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General Instructions :
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(i)  There are 22 general questions.

(ii) Question numbers 1-7 are very short-answer questions carrying 1 mark each.

Answer to each of these questions should not exceed 40 words.

(iii) Question numbers 8-13 are short-answer questions carrying 3 marks each. Answer

to each of these questions should not exceed 80-100 words.

(iv) Question numbers 14-20 are long-answer questions carrying 5 marks each. Answer

to each of these questions should not exceed 150 words.

(v)  Question numbers 21-22 are related to identification or locating and labelling of

geographical features on maps, carrying 5 marks each.

(vi) Outline maps of the World and India provided to you must be attached within your

answer-book.
(vii) Use of templates or stencils for drawing outline maps is allowed.

(viii) All questions are compulsory.

T Ta9e T STohetT Wl SISl It ShaTehely T SaetTdl & 2 1

Why is tourism called the world’s single largest tertiary activity ?

TR o AL STAANT T | % TR & LML o 71 [Arau | Vhtlh=1

Name the terminal stations of National Waterway No. 1 of India.



3. YRA WRHR FRT TR TR A’ T URET i T ot 2 1

Why was ‘Open Sky Policy’ introduced by the government of India ?

4.  fava TR W 9N U1 % e Hewaqul B o 3TaER o1 Tal § 2 1

Why has food gathering little chance of becoming important at the global level ?

5. 3y YRR W TR 4He 3R Hepiae Bai o ®9 H 7 foehad gy ? 1

Why did most of the Indian ancient towns develop as religious and cultural centres ?

6. “UReeT § AT T 2 1

What is the meaning of ‘transport’ ?

7. 9IRA H 91g UGHUT & {h=l J1 U@ Al 1 3001 i |

Mention any two major sources of air pollution in India.

D =
+

D =
1
[SSY

8. MY TN I WEIRTh! TATER Sl STESIHAT & | i & G Wil FaraRi s Sgel 3
T € 7 L HNT | 3

Modern manufacturing needs technological innovations. What values can accelerate

technological innovations ? Explain.

9. e 29 §N fove AR ied &l Sfelr=dT iR oy w467 fhar T & 2 g |9 SR W
HIT | 3x1=3

Why has the WTO been criticized and opposed by some countries ? Explain any three

reasons.
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10. Vet Wi & @rer Siafharsti | fhg WR Teweyul it fardt & 2 SSreeh afed we

HIfT | 3x1=3
How does technology play an important role in interaction with nature ? Explain with
examples.

11. SR | &It & o oot | € UguvT [ Wb Ueh TR THET 5 77T € 9 T i | 3

How has noise pollution become a serious problem in recent years in India ? Explain.

12. TN % o1% 59 R H S€l T B qeH 3R S R T {aehiad g 8 2 T Hifg | 3

Why have a large number of medium and small towns developed all over the country

after independence ? Explain.

13 oo 9 wed € 2 310 TafTeiha wREIshedl & STYR WX Il o fohwal IR UehRI Sl Sooid

T | 1+2=3
What is a port ? Mention any four types of ports on the basis of their specialized
functions.

14. 9Rd % S=RCT AMR & T5eAd WET BT TUH HiT | 5

Describe the changing nature of the international trade of India.

15. foom 8 whed & 2 Je oo o = Sl sl TS ShifsT | 1+4=5

What is development ? Explain the four pillars of human development.
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16.  9RAT FY ! [H=l U W TS Sl AR HiTT | 5x1=5

Explain any five major problems of Indian agriculture.

17. 9RA H “310hY HRE HE YhN T = § T M & Al % Yo % fel STem € 2
3TN Wed TL HIFAT | 5x1=5

How are ‘pull factors’ responsible for migration of people from one place to another in

India ? Explain with examples.

18. AR % Toshraeiiel <o § AR S i fohwel urd Wi Treiel s A HT | 5x1=5

Explain any five major problems of urban settlements in the developing countries of the

world.

19. TOR H U HU P TEh ST Te 527 TR i P b ¥ H Tl ST ST & ? HIE U HROT
T HINT | 5x1=5

Why is dairy farming known as the most advanced and efficient type of farming in the

world ? Explain any five reasons.

20. gl SR W % o 7 Jimfers iR enfaes R 3 T wR A T § 2
ST Hied T HINT | 5x1=5

How have geographical and economic factors contributed to the development of ‘Hugli

Industrial Region’ ? Explain with examples.
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21. EER % U T UoHidqen {E-AFRES H U /10T A, B, C, D 3K E 3fhd feu MU | &
RIS M T TS STHHRI Sl T8g H TgdHU AT 37 Gl AW 37 ek Gt 7E T@ra
T oAt 5x1=5

A, T A Jg ST arel 39

B. U U Ui T &
C. UR-FETEME N i a8 & I
D. o gt

E. 9RO

In the given political outline map of the WORLD, five features A, B, C, D and E are
marked. Identify these features with the help of the information given below and write

their correct names on the lines drawn near them :

A.  The country having the highest population growth rate.
B.  The area of commercial livestock rearing.

C.  The terminal station of trans-continental railway.

D.  Mega City

E. Sea Port

Ate : FrTerad e ot geaiid wenforat & o o I 21 % ©H WE

(21.1) TER ¥ Gty STEET gl 3T el 397 i T & 2

(21.2) f&T07 3TAERT o 3T g 3 BT AT TAfgy, ST Ao UeTee arer foha ST ¥ |
(21.3) O Bt T TSt 1 A fetE |

(21.4) 3R H Ferd SRAVTOH T @ THR1-9a- 1 19 ffay |

(21.5) UR-TTEEREA T & gat fay & LE #1 9 fofey |
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Note : The following questions are for the Visually impaired candidates only, in lieu of
Q. No.21:

(21.1) 'Which country has the highest population growth rate in the world ?

(21.2) Name the major country of South America where commercial livestock rearing is
practised.

(21.3) Name the Mega City of Iran.
(21.4) Name the southern most major sea port in Africa.

(21.5) Name the eastern terminal station of Trans-Siberian Railway.

22. URA % U T ToHIh {@-THres | Hefeiad i fefa swge e 9 KEng 3 s34
W fofau 5

() TR @ A S % ol Y S arel a5

(i) =T % ICRA H SO T

(i) OoTe 7 e WireezR Uil ureh
(iv) AEH T Aol IMET HREMT

(v) TSI S HETR

On the given political outline map of India, locate and label the following with
appropriate symbols :

(1)  The State having the lowest percentage of population below the poverty line.
(i) The State leading in tea production.

(i11)) The software technology park in Punjab.

(1v) An oil-refinery in Karnataka.

(v)  The metropolitan city of Rajasthan.

Ate : Fr=ferad o et gieaied werforat & o oo T 22 % ©H WE

(22.1) 9Rd % 3 T HT A IR, a0 TR @1 @ A ST 1 G9d F9 S
T AT 8 2

(22.2) WRA Y = T U0 IcAEH TT i T 2
(22.3) UTE | fed Gieee=R Rkl 1k 1 91 fafay |
(22.4) FHAEH TT T T oA IMET HRGH Hl 4 [ARaT |

(22.5) TS % HeHR 1 A Aty |
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Note : The following questions are for the Visually impaired candidates only, in
lieu of Q.No. 22 :

(22.1) Name the State of India which has the lowest percentage of population below
the poverty line.

(22.2) Which is the leading tea producing State in India ?
(22.3) Name the software technology park located in Punjab.
(22.4) Name an oil refinery located in Karnataka.

(22.5) Name the metropolitan city of Rajasthan.
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Map for Q. No. 21
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Map for Q. No. 22
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